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1| () =A A KRATdEX 172,441,602 26| (BR) AAPEHR KEEFHREFE 2,618,787
2 (ﬁk)m/u—c;\,:n//~7)/7* KBrRATAERK " 58,373,827 27|78 B ABFEER T P=T VBT (k) [FokRT . 2,470,946
I AF LT ATAR@R) - KR FRE 40,529,704 283 gkE L —E X (BR) KR FRE 2,114,708
AT BARBERAT S (BR) KBRTATIE X 39,831,602 29| HEESR (BR) KERTIHRIR X 2,069,529
s[{ER TR (BR) KERTTHE X 35,543,855 30| (BR) KB KRR X 1,999,249
6| ZEIFR T2 (BR) |KBERTHTAER 32,442,941 31 ’\’/7\—‘IJ|”IV3'V“—T/;<T-L\(1§E) KBrmdEE 1,950,084
7| —7 (BK) HRITHRE 25,084,770 32| FAFNT > 7 (BK) KIEH{EZITX 1,842,814
BIERBEBRIE (BR) |RBRAT R R X 14,957,343 33| FEAEE B S alit] 1,741,446
9| EBEERERT Y (BR) KBRATVE X 10,724,535 34| KR FTERE T H (k) SFAT 1,584,503
10 /\7%/—/51351//#7’)/7*(1%) RBR AT R 10,099,062 35| (BR) =Fet KERHTHRRE 1,526,208
11| (BR) ZUNFb KIRHAER 9,439,980 36| (BR) SLTETL-FT o2 KIRTHFEE 1,462,218
12 ESRER =TV 2 (BR) KERAFREFK 9,107,042 37| (BR) B AT I X KB R X 1,345,918
13| M ESR (BK) KR AEX 8,689,572 38| AT B RT A (BR) O ] 1,250,710
4B EERITEGR KERFEIE/IIK - 8,128,570 39| (BR) B/REER TEDT KRR R X 1,242,928
15| 2 X 8B T (BR) KERTATAEX 7,768,761 40| EATABTE Y —E X (BR) KRR 1,214,273]"
16| EmeR (BR) IRIRTEBX 7,633,890 41| (BR) F < KPR X 1,187,488
17| (BR) =RF—h KEERHTIEX 6,052,345 42| YETEER (BR) BN Y "~ 1,156,303
18|\ FREEITE BR) KBRS X 5,808,312 43| (BR) V= Lvy s WERX 1,137,000
19| =FnEREARTIE (BR) KBRHAER 5,433,260 44| (BR) Y=y > RET 1,084,281
20| (BR) A~ KBRATHE) X 5,230,005 45|F A\ F 4 —E (BR) KERTHAEE 1,060,604
21| == EHE (BK) KERATILEE 4,514,115 46| MIEERS (BR) K@\ . 1,059,149
22|IDECT 2 F LXK &= ha— LR (BE) KR RX 3,929,423 47 [BRFRERR () KPR HT AT B X 1,038,359
23| (#R) BRE T KERMILRE .. 3,480,713 48| RBRESRME T (R) KERTATAEBF X 958,981
24| 7T = (BR) KERHRER 3,201,677 19| (R HBERES RIRE - 864,672
25| B RE VT2 —E R (BR) HET 2,739,118 50| BR AR E /L= RIAb (BR) 864,489!
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